Efficiency vs P,

+0.05¢ T T
= E : : :
9,045 -+t P
> N N N
2 0.04F i P RRRETEES
o : :
D.035F- -+ ARRRREERE SRR
0] H N
0.03F - fgoeeeeeee SCTRPRPORES e
0.025F -+ Feioeeeen e o
0.02F -+ b Feeeeeeeeen e
0,015 ++-vevsferneonenas S A—
0.01F -+ P Feeeeeeeeen e
0.005 ceedee Beoeeeees e
o 0] L .......! L .......! Liiun
& 105 - f o[-
=1 1 A oo wreeeee
0.95 - i ; :2 3
00110 4, elf
—=— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100
—e— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0
—— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0_dynamicChi2CutOverlap
=0.05¢
%) E
§.045:—
g o
(]__,0.04:—
Q o
.035F
o =
0.03F
0.025f
0.02F
0.015E
0.01-
0.005F-
o Of.-&
® 12| H
14 [
083 1

Efficiency vs ¢

o-0.05¢
o E
Q.045 ;
(8] .




	Contents
	Page 1


